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Aufgabe 1.

a)

 −4
11
14

 b)

 0
2

−11

 c)

 11
−11
−4


Aufgabe 2.

a) x⃗ =

 9
10
−7

 b) x⃗ =

 −0, 5
9, 5
−1, 5

 c) x⃗ =

 1
4

−12


Aufgabe 3.

a) M(1| − 2|5) b) M(6, 5|5|0, 5) c) D(7|1|4) d) G(−14|2| − 4)

Aufgabe 4.
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BA ⇒ D1(12| − 5|6)

−−→
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−−→
OC +

−−→
AB ⇒ D2(4| − 1| − 6)

−−→
OD3 =

−→
OA+

−−→
CB ⇒ D3(−6|9|6)

A B

C
D
1

D
2

D
3

Aufgabe 5.

−−→
OC =

−→
OA+ 2 · −−→AM ⇒ C(6| − 6| − 2)

−−→
OD =

−−→
OB + 2 · −−→BM ⇒ D(0| − 1| − 4)

Aufgabe 6.

−→
OT =

−→
OA+

1

3
· −−→AB ⇒ T (1| − 3|6)

−−→
OR =

−→
OA+

2

3
· −−→AB ⇒ T (4| − 7|11)

Aufgabe 7.

a) a = 4; b = −9 b) u = −6; v = 4 c) k = −6; m = 1

Aufgabe 8.

a) a = ±2 b) t = ±3 c) s = ±3 d) r = 0 e) t = ±2

Aufgabe 9.

a) v = −3 b) u = −2, 5 c) t1 = 5; t2 = −5

Aufgabe 10.

a) α = 83, 4◦; β = 59, 8◦; γ = 36, 8◦

b) α = β = γ = 60◦

Das war gar nicht schwierig!
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